RS0 T N AT v L VRS
TVRE304E 8H26H  TIERA
BA VTN F v L DEALLTOR

BSC RHEH

=Y e (BERRY2=7) 2
5 2 A EH FrRVa=7)
AU FERES (BunBunSP) =2 2 1o 6
157 0 0 S B (BT 2)
HA B (Y 2=7) 0 0 5 2
-l 21T piso 2be——2kH BA BHEFRYV2=T)
HIR & (Progress]r.)m-z e
16-13 2 o 2——i[ HE— (R)-t7v ]1)
AR O (kE 57) o 0 1512
%9 0 itk F% (BunBunSP)
BB B (HERY2=7) ——2 159
1511 0 2 HEmE LY 2=7)
= %=L (BunBunSP) 1
B TNAR ST L DAL DX
2 TiE AR Oy 2=7)
AW KT (FLY2=7) —2 e
8-15 0] IR BE (Y 2=7)
o, (W 16-14 15- 4
Bl 7~y (EY2=7) 0 2 0 15- 5
a1 ob— wmas (Hilva=7)
PR BA—F (Progress Jr, ) em—2 16-14 02 15-11
16-14 |5 5 15- 7 RN .
oo 2 WA B (Bils—72)
BN R (U MVBER) 11 o 1 e
15- 9 0 AR ZH (KBZT77)
. 15-11 15-17
AR BHX (BERY2=7) 2 15-10
2 A E Bk Rya=T)
H7o)0 N RY \ ﬁ :[j Y /A JII/E\
FFv/ IR/ FovERTOR (AR R RV AR K| BR 7
e O O M 3-0
R W= 15- 2 15- 6 15- 9 | 6-0
A S (VFRY2=7) e I O |
X O X M 1-2
SHE U R (R =7y Tt 2-15 15-13 12-15  |g 2-4
E?E Jjﬂd(( ) 7 J ) 3-15 15-12 12-15 P 59-85 3
X X X M 0-3
MESL (Z)—¥7Y 1 6-15 13-15 10-15 |G 0-6
/T/TZIK lL{i/P ( ) J ) 7-15 12-15 12-15  |p 60-90 4
X O O M 2-1
H (BunBunSP 9-15 15-12 15-10 G 4-2
LA i 5 (Bunbu ) 9-15 15-12 15-12 P 78-76 2




A 3x %
eI/
i &4
/NI &N
£ W
g #SE
I BANE=CIN
\WH BIRE
N i

oA
Bl 0L
IERES
ms 25
How o
A K
T
Bk A

Y AR

e
=)

Wa #E (ER)

RAN Wkt (£R)

S

PRS0 TR/ NFEAET v L VR

SERR304E 8 H 26 H

LA VTNV Fx L DEALLT O

0 tE ZZ
(V% PR 2 g ,
. = ) o e ik
(MPFAEY2=27) 0 > ) o =
. {Eiﬁ (6] }g: 3 2 e ﬂﬁ”l EE}K
(MEghAyazy) mmmde 1o .
ErRV2=7) o eIl lix P
RTINS 2= 10-15 (0] ig:z B
o T——— RN fEE
(*EﬁAB/J_AY) _113|2 1; lg 214 o
(ﬁ %\ ) o ig:ig o 1 15-13 %7{7"% 'I\_“%
12 15-13 15
. ¢ o e LA ey
(ﬁp ‘j /1%7) 015*3 2 15- 6 W
N 15— 4 15- 9 2 pr— *j( U—l '/f\//)ki
(V% MVBA) ————0 . =
\ X 2 2 o B
(%]V’Eﬂq:l*&f/;:j’) — 153 -
2 C— V{JE/% ﬂi,l}ié

By B2z —

KRy 2=7)
(R)=7v Jr)
(LY 2=7)
(V¥ MVBER)
(FMA—72)
Ky =2=7)

(A tyh-AVaz7)

a3
=]

By Ay 2=7)

(*ﬁﬁf?;ﬁ/: :7)

(e 2=7)

& (ErRvazT)

LA TNV Fx L D2EALL T O

THERKRASC KEHE

(BEORY2=T)
(A)=%7v Jr)
(V% MR
(At yf=Aya2z7)
(Y 2=7)
Gy 2=7)
(RFAR%EY2=7)
Ky 2=7)
(Vv MIVEER)
(BFEPRY2=7)

12 2y Ko FA (Y 2=7)
15— 3 2 2 15- 8
15- 3 15- 5 .
0 0 ha f Y (FEEFv=2=7)
15- 4 15- 4
15~ 4 > > 15-10 \ ‘
—2 0 7% e (MEyf-Avazy)
15-11 § o 0 15-12
15-11 15-12 AU
0 Qb MR KR (BFAEY22T)
15- 8 oj2 15- 9
15- 4 15-13 -0 e s
0 15-13 opm— R YR 2 BrRV2=T)
15-12 | 0 2 15-12
15— 12 15- 6 N, s B
—2 i 0 0 %g:%é R &8 (ﬁuﬁﬂ /1*‘7)
15-12 -
0 7 o AR B (A 2)
15— 3 -
15-2 2 ! 12—%?} . .
—2 1 NEFRhE (Y 2=7)
LA TNVA ST v Lo DHEALLT OE
2 11— AW EHY (REV2=7)
9-15
o
2 0 15— 7
0 2 maE B Brhvazy)
15- 6 210 15-13
15- 5 I 15-10
17-15 . o
2 0 BN (WLY2=7)
0 2
15-11 15- 7
16-14 15- 5
0 2 % A RtV 1)




